
HRADIŠTĚ C, DÚ39b, 14.06.2019, 

Taktika obtížnější 

 

 

1.příklad     Bílý na tahu (pš 1/298) 
XABCDEFGHY 
8r+-wq-trk+( 
7+l+-vlp+-' 
6pzpn+p+p+& 
5+-+P+-sNp% 
4-+P+-+-wQ$ 
3zP-+L+-+-# 
2-vL-+-zPPzP" 
1tR-+-+RmK-! 
xabcdefghy 

? 

 

 

 

 

 

 

 

3.příklad     Bílý na tahu (pš x093) 
XABCDEFGHY 
8-+-+-+-+( 
7+-+-+N+-' 
6-+-+p+-+& 
5+-sn-zP-+p% 
4-+-sn-zP-mk$ 
3+-+-+-+P# 
2-+-+-+K+" 
1+-+-+-+-! 
xabcdefghy 

? 
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2.příklad     Bílý na tahu (pš 4/18) 
XABCDEFGHY 
8-+r+-+k+( 
7+p+-wQpzp-' 
6p+-zPq+-+& 
5zP-zp-+-+-% 
4-+P+-+-+$ 
3+-+-zp-+P# 
2-+-+-+P+" 
1+-+-tR-+K! 
xabcdefghy 

? 

 

 

 

 

 

 

 

4.příklad     Černý na tahu (pš x284) 
XABCDEFGHY 
8-+-+r+k+( 
7+-zp-+pzpp' 
6p+Pzp-vl-+& 
5+-+-+-+-% 
4-+-+-zP-+$ 
3zP-sN-+-+q# 
2-zPPvL-+-zP" 
1tR-+Q+-mK-! 
xabcdefghy 

V partii se stalo 1...Sd4+ 2.Kh1. 

Jak černý pokračoval dál? 

 

 

 


